a%ﬁlaﬁaa?nﬁaﬁ%azﬁﬁﬂ
gei-1
(Fre3)
a. A
b, AFEH
c ﬁﬁﬁ
d.

:ﬁ%ﬁﬂﬂqﬁﬁq‘r ﬁ%wﬁ%mmaﬁﬁ:

(A) a- Lb-IIc- I,d-1V
© a-III,b-IV,c—I,d-II

S17] o

mﬁ 11
(%uﬁwﬁ?ﬁ 153)
I. qYL
11. 3AY:
. 3TRH
v. W&

®) a-Mb-TLc-Ld-TV
(@) a-1V,b-T,c-Ld- 1) B

(E) HTAi@wH
2 ofi - o F -7 FHTE R?
(A) FHHUE ®f =
© f&a (D) T
(E) STFaiawd
3 meﬁ%ﬁwm%mmm
& et ®)
©) TW ®)
(E) Tgana =
4 Where was the World Future Energy Summit 2024 organized?
(A) Paris (B) New Delhi
(C) Abu Dhabi (D) London
(B Question not attempted
ﬁaqﬁwaﬁﬁ@taﬁmzoﬂmmﬁﬂﬁmw
(a) U@ @) TEfet’
(C) 31 (D) d=d
®) IARaTA A
5 India- Japan 5th edition Joint Military Exercise ‘DHARMA GUARDIAN’ commenced in which state of
India?
(A) Rajasthan (B) Tamil Nadu
©) Himachal Pradesh (D) Andhra Pradesh
(E) Questlon not attempted
ST ST SaT G Gh AT A ¢ coqt MR T 3 fore T I §oT?
(Af T (B) dfHTTg
(€) Femrad ¥_T (D) Y TR
(E) rgafa o4
6 Which of the following team emerged champion of the Santosh Trophy (2023-24)?
(A)  Manipur (B) Mizoram
(C) Services (D) Goa
(E)  Question not attempted
i(ﬁf’f‘aﬁgﬂ)’ qﬁiﬁaﬂwmmmw(zozs -24) &1 T e \
© wfdw @ P
v
®) FERays (D) T
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. . 9
In India General elections for 18th Lok Sabha were completed in how many phases:

IR 3 1 8eff wireraeT 3 Fo 3T T fefey =reoit & qof g2

tgﬂ

A) 6
© 3 0O
(E)  Question not attempted ZP AR &

If it is given that for two nght angled triangles PQR and ABC, £Pp =25°,

PR = CA, then which of the f6llowing is true?

Wﬁa‘sﬁmw%%amﬁwﬁPQR@ABcﬁ /P=25°, £C=25° £Q= ABT9O°

il (B;/APQR = ACBA

7, atﬁnﬁ«ﬁiaﬂﬁ%ﬁww%‘?
(A) APQR = AACB
(C) APQR = ACAB . D)
(E) Question not attempteg;z 3133?1’&?[ 99
Te
_ 3¢ot0+1
9 If = cosecO = %, then \t/;nciglgk \75 is equal to:
7l
gfe cosecH = i,aﬁr @E:Qf_l F TR
y tan© -:!_-_}/5
2 2
X -y
(A) % 0 B)
[2, 2 =
©) Nty i (D)
* =

- (BE)  Question not attempted’ 3TANG F&

10  Ifa=0.1069, then the valuezsﬁ \/4a2 +1—4ag+3q is:

afda=0.1069, T /4,2 +'i“—‘§ 4a+3q FTHAR:
(A) 2.1069 B)
(C) 1.5345
(E) Question not attemptegif ﬂqﬁ'ﬁ?f g
11 PR ¥ s Rl A -

(A) SIS 19 SEH AT (B)
& &Qt

a8 el & 9 fa) : D)
(E) wrafaws ”

12 mzﬁmwmﬁq%fqaﬁﬁmmm%
& (B)
© i Xy (D)
(B) rgaf@ws =3

13 Wéﬁmﬁwﬁa@mﬁ%}mﬁﬁ
(A) TqT== m ®)
© F ™l
(&) smwfawa P

v
5171 Eagy ) 3

APQR = ABAC

0.4655
1.1069

ERILE PIST ¥ ST )
FHIAT &1 Sfay)

17164546 171 54545 1716

e

N o and
/C =250, 2Q= £B=90""%

L)

”"’i

o,

- 45/ >
i l 4 ‘Q) ~
R %z b

-..,/

11)

3
bl
w8y
-

[ P'T'()
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14 Select the most appropriately matched pair of crops.

(A) Rice - Rabj- Basmati (B) Maize - Rabi - Vijay
(C)  Rice - Kharif- Shakt (D) Wheat - Rabi- Sonara
(E) Question not attempted
e BT e v ey T S A
(A)  =ae - Wl - ey (B) v - et - forsrr
(C) ¥ - EiE - iRy @) - -
(E) 3rgufita wsy
1S Who classified blood in different groups?
(A) Karl Landsteiner (B)  Louis Pasteur
(C) Robert Koch (D) Edward Jenner
‘(E) Question not attempted
forert v o faforsy et i anfrper e
&) FTA AT (B) LU
©) VL= (D) TSTE I
(E) ogaf@aws

16  Which of the following antibody is found more in mother’s milk?
ﬁw%%aﬁﬁﬁ%agﬁaﬁ?w@aﬁf (fcrceft) Stferehar & wra ST 22
(A) Igh B) IegG
' IgM (D) IgA
"(E)  Question not attempted / 31@?1‘?(6 94
17  Match List-I with List-II:

List-I List-IT
(Deficiency disease (name)) (Symptoms of the disease)
a Pellagra L Memory loss .
b. Beri-Beri II. ~ Weakness in muscles and nerves
c Scurvy . Appearance of dry scales on tongue and skin
- d Riboflavinosis IV.  Bleeding from gums
gt -1 gt -1 @ g Afs
Tt - Tt -11
(arquteT {rm) (@ 3 e
a. Oam L wfa o e (e
b  af-at I R ofe et o geferan
c. Tl : UL Sfioy SR eorem o g vreent ot forad 3 -
d.  TgEredEIEd IV. WG A
Choose the most appropriate answer from the options given below:
e fau g fercat # & wrarifere suges s g
(A) a-Ib-Nlc-Ld-1V B) a-1V,b-Lc-1Ld-11
€) a-Lb-I,c-1Ld-1V @)’ a-lLb-1,c-1v,d-1

(E)  Question not attempted / 3Tafa w1

5171 et 4 [P.T.0.
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19

. on
18  The fourth edition of the ‘Shanghai Cooperation Organization (SCO) Startup Forum’ was orgﬁ“lsed
March 2024 in .
(A) New Delhi (B) Moscow
(C) Bishkek (D) Shanghai
(E)  Question not attempted : el
TS el wiraT (TE Y 37Y) TSI BT T el HEHT 19 7, 2024ar'ﬁ_____ﬁWiﬁ‘%ﬁr%qT
aml
w78 et (B) HiER
©) fosks D) ¥
(E) rgaf@ws
19  Match List-I with List-II
List-I (Country) List-II (Position of medals tally
in Paris Olympics 2024)

a.  China i 3¢

b. Britain ii. 4th

c.  Netherlands i, 20

d. USA iv. 1%
-1 1 forerr g=fi-11 3 | hifsg

(-1 (39T TEf-11 (R STt 2024 °
Tzer oot i feafa)

a. == 1. daa

b. frA ii, =

c. Trawdsw fii. @

d. JuEm iv. e
Choose the most appropriate option from below:
T o & wad Iugeh fohed 1 = HING
(A)  a-ii, b-i, c-iv, d-iii (B)  a-iii, b-iv, c-ii, d-i
@y a-i, b-ii, c-iii, d-iv : (D) a-iv, b-iii, c-i, d-ii

(E) Question not attempted / SR W
20  Who became the second Indian to win a gold medal at the Asian Marathan Championship in 20249
(A)  Srinu Bugatha (B) Man Singh
(C©) Gopi T (D) Kartik Kumar
(E) Question not attempted

e SRR 2024 7 Tl gae S el GH AR I 2

(9 I ®) wfiE
(€ T (D) i FAR
(B) STguia A
21  Which country has emerged as the world’s second largest producer of Mobile phones?
(A) Germany (B) India
(C) United States (D) Vietnam

(E) Question not attempted

e G X3 ST T GE T ST HISIEE B ST S S I §2

7 il @B W@
(C) TS RM ' (@) frram
(E) FaRasd

S17 ﬁ ‘ 5
! / [ Prg
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22

23

Choose the mogy appropriate reported form of the sentence given:
He said to us, “Don’t walk on ice; it isn’t safe.”

He warned us not to walk on ice as it wasn’t safe. 0
(B) He ordereféjr:ﬁs not to walked on ice as it weren’t safe. =4t
(© Hetold uswis avoid walking on ice as it isn’t safe. Lf\'
(D)  He said n(; ;'t?o walk on ice as its not safe. ‘\{3
(E) " Question ft attempted ;——{
Choose the mostappropriate option to fill in the blanks: ™
I her _i“a long time, ____ she was a child. 7
knew, x, since (B) have known, for, since
(©) was knowing, since, since (D) know, since,&ggr

(E)  Question A6t attempted <

Read the passage andfz’\'ﬁswer the questions that follow by\choosing the appropriate answer : (Q. 24 to 28)

24

Once we have se’_tﬁ&d on a perspective, we close off with one line of thotight. Certain kinds of ideas occur to
us, but only thosggi;inds and no others. What if the crippled man who in\}éﬁ:ted the motorized cart had defined
his problem as, ,H(E)W to occupy my time while lying in bed?” rather thﬁE“How to get out of bed and move
around the housg?: o
Leonardo Da Vipei believed that to gain knowledge about the form of E)roblems, you begin by approaching
the problem on its own terms. He felt the first way he looked at a problem was too biased towards his usual
way of seeing tkgi‘nwgs. He would restructure his problem by looking at if?rom one perspective and move to
another perspectiqy;@ and still another. With each move, his understanding would deepen and he would begin
to understand thgggssence of the problem. Da Vinci discovered that geu&s often comes from finding a new
perspective that fid'one else has taken. RO
Albert Einstein V‘Vgé once asked what the difference was between him andihe average person. He said that if
you asked the ain%ge person to find a needle in the haystack, the persofi™would stop when he or she found a
needle. He, on tfi-éjother hand, would tear through the entire haystack ‘lﬁ%kjng for all the possible needles.
With creative thi‘ir.l'llging, one generates as many alternative approaches as one can.
Most of us have been educated to think exclusively which means we thinkijn deficit by focusing our attention
on specific infoﬁ;:iation and excluding all else. In these instances, exBlilsive thinking leads us to neglect
potentially impﬁiiant pieces of the puzzle. Exclusive thinking doesn’{%erely inhibit irrelevant facts and
perceptions. It can; also smother the imagination. \ﬁ’
Creative thinkings inclusive thinking. You consider the least obvious a$ well ag the most likely approaches,
and you look for-different ways to look at the problem. It is the willinglxg;ss to explore all approaches that is
important, evenlifter one has found a promising one. i
Identify statemefits which are true with respect to the passage:

a. Our settled perspective towards a problem makes us focus&g one line of thought only.

b. Leofiardo Da Vinci always solved a problem in the first at;&{ppt .

c. Alb”e’ft Finstein would look for as many alternatives as he gpyld to solve a problem,

d. Exg:ﬁgsxve thinking enhances creativity and imagination, <t

Choose the mos(?/:propriate answer from the options gjven below: 0
(A) bandc only “(‘B{N a and c only v}
(C) canddoply (D) aandb onlyh
(E)  Question pndt attempted L

S17] % 6 [ PT.0-
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25

26

27

28

29

Which of the following statements are not true with respect to the passage?

a With creative thinking, one generates as many alternative approaches as one can.

b.  Exclusive thinking leads us to the important pieces of the puzzle.

c. Inclusive thinking makes one look for different ways to look at the problem.

d. Exclusive thinking makes us broaden our attention and look for potential alternatives.
e. Creativity and inclusive approach go hand in hand.

Choose the most appropriate answer from the options given below:
(A) banddonly (B) candeonly
( d and a only (D) aandeonly
(E)  Question not attempted

The features that define creative thinking are:

a. Multi dimensional approach
b. Willingness to explore
c. Biased approach

d. Not easily satisfied
Choose the most appropriate answer from the options given below:
(A) b,canddonly ‘/63'{ a, band d only
(C) a,canddonly (D) a,bandconly
(E) Question not attempted
According to the passage, the most important thing with respect to solving a problem is:
(A) To change our education system (B) The willingness to explore all alternatives
(C) To be focused with one line of thought ’ Learn to look for facts
(E) Question not attempted '
Choose the Antonym of the word SURPLUS from the options given:
(A) Inhibit (B) Biased
(C) Deficit }arf Smother
(E) Question not attempted

The ancient name of Jaisalmer was

(A) Mand (B) Hadoti
(C) Shekhawati (D) Vagad
EB) 'Question not attempted
g ST T T -

) we (B) wd
© D) TS
(E) Iguia ¥
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30  Select the incorrect statement about subtropical mount
below:)

(A)  Subtropical Mountain forests are found only in Mount Abu region in Rajasthan,
(B) In thc&:}forcsts, greenery is available permanently,

© Thcsc&qrcsts can be found in Sirohi which is situated in Rafdsthan

(D)  Thesq fgrests are found only in Rajasthan and Uttar Pradesh%'f{i
(E)  Question not attempted ol

M“Waﬁ%aﬁﬁmmmwﬁ (ﬁwﬁ&;a&mgﬁﬁmgw)
(A) @Wqﬁ?ﬁqaﬁmw%mméﬁmm%
B) T gl R ' & Sueey wdt Y

ain forests. (Choose the most appropriate option from

: b
(©) e T TR S o &, <t o v & R -
(}»’ TE S hae TSR qT I SR & Qo )

(E) iqaid s

YY)
wisé) of Rajasthan?
(B) Westerhdesert plain region
(D) Semi d{?ﬁzregion

31 Whichof thg?:::)llowing is the biggest geographical region ( area
(A) Aravali.égegion

(C) Easteryplain region
(E)  Questioq not attempted

ﬁ%ﬁﬁﬁmmmmﬁm%ﬂm%m%mﬁ

(A) e syt oty AaT 8
(C) T A & (D) o7y &
(E) Tganas W0
32  Whichof thﬁollowing Indian states/union territory has the highest:number of wildlife sancturies?
(A) West llgéngal (B) Andamhf)and Nicobar Islands

© Laksklic}weep

(E)  Question not attempted »
P #8582
(A) ufE e B s 39t Pt i w

(C) (D) e Ry
(E) sigefg e .

, )
33 Which of thefollowing is shortcut command for print in MS Ofﬁcg?i‘
T uﬁﬂ“ﬂjfﬁz%%qﬁmﬁ&aﬂwmmm

(D) Himachal Pradesh
)

wf ul,
(A) Shift CZ}P ( Ctrl + pf
(C) Al +VC'II’| +P (D) Alt+ P\D

(E)  Quesfion not attempted / 31Taftd g i
There is certain relationship between the two terms to the left of ; e

34 et " :yopd the same relationship exists betVe*"
the two terms to its right, Then find which option would replace t

& Anff TR W1eE % N FO W B sfcafy he question mark?

e Lor] e & ) 3 mma;ﬁw a—tﬁ.m f%

9% & warrar &0 a1 faded a1 wam iy "\?E' R, et A e R
GKLP Qﬁ%z .. ABFJ 1 ;)

() KLPq B) MOPT'S)

© MOTRy

Dkopr W
(E)  Quegtion not attempted / Wﬁﬁm{ m i

171 g ™ R

i [P.T.O-
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35  Choose the box that is similar tojthe box formed from the given sheet of paper.

ST shY &) et gfte (AST) | S ST 6 5 i ii;,
% ’ 2
s )
b ¥
O fe . fe
s T
H
Choose the appropriate option g!ﬁ;;n below: . !:}
= R e 3w feea AT D {gj
“ V///?-/i . e [ ~
/A £ ' =
[ ]
© | & , - @ | # [® \©
\ <
(E) Question not attempted / if?. o . if‘g
36  Trefafiad § 1= gevaTe qeATR- \ h"/ ' E}
a) # ;jf B 3 !
(C) ™ vl (D) T E:i
(E) SAgaRa@ysd
37 ﬁw%rf@ﬁﬁmﬁmaquﬁ%@ . O
A) fEm i?; ‘(‘B/Tﬁa’ o
© g ® Fh )
(E) oEafayd W O
38 gELIR G-I %gﬁ%ﬁﬁﬁﬂzj !
Teft1 ! Tef1n »
(&) (feram)
a. THUAGEEIE if?! A - A e &
b, AEATEE g0 I S e E
c.  fararr feremeff & forelfel agaa 81 1. 37 fmar ,q‘
d. dEdgH 9 F4ll :ﬂ IV, e far g
= ferepeit & watfoes I7 AT GMT: ~
('\f.A a-1V,b-1,c-1,d-1 *1 B) a-1V,b-TlLc-1,d-1 ¢
() a-1Lb-1V,c-1,d-1II (D) a-1Lb-Le-lLd-1V
(B) Ira s

171 g ’
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39 Take the given statements to be true, even if they scem to be at variance from commonly known facts, Then
decide which of the given conclusion logically follows from the given statements:
Statements: No magazine is newspaper.,

Some newspapers are books,
All books are spoons.
Conclusions:
L. Some magazines are books.
II. Some newspapers are spoons.
(A)  Only conclusion II follows.
(B) Both conclusions I and I1 follows.
(©) Neither conclusion I nor conclusion II follows,
(D)  Only conclusion I follows,
(E)  Question not attempted

ﬁquﬁaﬁwnﬁwﬁaﬁmmz mmﬁ@mﬁrmwamaﬁﬁqmmifémwmﬁ

®YA: 7
IS oft vt T T ® gt@
TS TAEAR-GT Teciah 7\
Tt geaeh wE ) NV
1@3%3@%%1
I1. 9 99K - o 90 _
. éﬁ%ﬁ@ﬂm@wm% (B) 3 e 16 11 s s
(C) qa’rﬁmﬂaﬁwaﬁﬁmnmma (D) e fened 1 sreror et 2
(E) smafaws '
40 ﬁnﬁi?aaﬁﬁ‘w—m’wgmmmmf%- k/
(A) =E - T B) e - FHe
(© @9z -zrft (D) &t - W
(B) sgafaws .
41 Chief Minister Corona Sahayata Yojana is operated in the entire Rajasthan since
(A)  April 2021 (B) May 2021
(C)  June 2021 (D)  March 2021
(E)  Question not attempted ‘
Waﬁﬁmm?ﬁm@wﬁwﬁm@
&7 e 2021 (B) w2021
(©) 312021 (D) = 2021

(E)  safagg :

42 BHADLA SOLAR PARK is located in: .
(A)  Jodhpur (B)  Udaipur
(C)  Bikaner (D) Jaipur
(E) " Question not attempted '
VST Hret gt Trsted & f0 T 3 feuq 89

Strag (B)

(A)
@ dE (D) vy
E) 3ruf@ad

( 10 '~ [PTO.
S17]
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43

44

45

46

47

. . ; I ) . . ning
As cited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the plan

and strategy of wars, lived in was called as — (Choose the most appropriate option from below:)

(A)  Sainya Durg “f; (B)  Parikh Durg gt
(C) Paaridh Durg ‘;.} (D)  Sahay Durg 1)
e ]

(E)  Question not ntlcmpggd ‘1‘“’5’ i )
Sverr s e 35 ST A SRRt & TS o6 o febett STef 7 bl AT aﬂf;‘lcnra“rﬁimﬂﬁswgﬁa;
TEa A S/ T ST o (ﬁ?ﬁ@mmmgﬁ:) [

of @ gt B) urir@ i
(© uwdugt 2 (D) @l

(E) ¥gaia w o
People of which Civilizatidn buried their dead with jewellery and ornaments? 7:
(A) Kalibangan E{; (B) Ahad
(C) Bagor ”"\‘F (D) Gilund i
(E) Question not attempted oot
Py T 35 T ST AR ST 35 AT T 17 »

W [~ ) e oo
AR v w) fiere

(E) Srgaia s i
Karpur Chand Kulish was(tfﬁe founder of which newspaper? ey
(A) Punjab Kesari Ty (B) Rajasthan Kesari 'Lr%
(C) Rajasthan Patrika et (D) Dainik Jagran Liu
(E)  Question not attemptéd r,:l
e < e fobe HTER a3 T &7 < e
(A) wEwed (B) Tsre el s
() TTET aRE i @y 2

(E) :ﬂaﬁf’ﬂ a4 3
The spread of which revoldtion enabled India to achieve self sufficiency in food grdins?
(A) Yellow Revolutiong (B) Blue Revolution ‘?
(C) White Revolution et (D) Green Revolution l‘é
(E) . Question not attempted =
mmﬁféﬁm%m@mﬁﬁmﬁﬁwwm@ﬁwgm? ;J
(A) et Fifd [~ , ) el wifa e
(C) wE Fifd v @f  wfwwmifa

(E) FarEad \0
Planning Commission wa%;t up under the Chairmanship of- et
(A) President T (B) Vice President :{7
(C) Chief Minister  «ft (D)  Prime Minister t}'\
(E) Question not attempféd Q‘:’
airorT i 1 e ferr oy sy i o g o P
(A) Tfd Z 1) wasgf pad
© T FONRL L ‘

(B) URATH

“ 11
S171 ‘6% [P'T-O_
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48  To protect goods produced in India from imports, Government made use of-
(A) Tariffs (B)  Both Quotas and Tariffs
(C)  Neither Quotas nor Tariffs (D)  Quotas
(E)  Question not attempted

Wﬁwﬁaw\gaﬁaﬁmﬁ%wﬁ%ﬁ%ﬁmﬁﬁwwmm

(A) DY e i e A
O TR 1 6y (D) =
(BE) otgafawy
49 Thewa Art is associated with which of the following areas of Rajasthan?
(A) Jaipur (B)  Pratapgarh
(©) Jhalawar (D) Churu
(E)  Question not attempted
TSTET 5 T et ey 3 9 Forer ey & ity 29
@) v ®
©) FrETS D) I&
(E) <Igai@wy
50  “Mahi Bajaj Sagar Project” is a joint Venture of which of the following Indian states?
(A) Madhya Pradesh and Gujarat (B) Rajasthan and Gujarat
(©) Madhya Pradesh and Punjab (D) Rajasthan and Madhya Pradesh

(E)  Question not attempted

AT SIS AR e Frffen 3 & v 3 e gt o s s 20

(A) e R ST TG TSTEIT TR oRIT
©) rrwu%sraﬁwam,& 3% mmaﬁtmw
(E) gaiayd

S1  Given below are two statements:
Statement (I): Alluvial soil is found in Western desert plains of Rajasthan .

Statement (IT): This soil contains enough quantity of Nitrogen but lacks in Potash and Iron.
In light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are false.

(B) Statement (I) is true but Statement (II) is false.

(C) Statement (1) is false but Statement (II) is true.

(D) Both Statement (I) and Statement (II) are true.

(E)  Question not attempted

F2 g e fom T E -

YT - | ; STl o TSI 3 Gferdt wewaretrer fiam & oré smeh )

e - 11 ; T fOgt A A e e et & e rerer e e e <) ot el &)

v i e e et & 2 e e gt

M Wlaﬂ'(w}liﬁfﬂmgl (B) Wlﬁ%%mnm%
(C) ooy 1 7T & fobe] U 11 el R (D) o 1 3 e 11 3t el )

(E) orquftaad
S17] @ 12 [P.T.O


https://www.sarkarijobportal.org

52

53

54

55

“Namcha Barwa Peak” is located in which of the following regions of the Himalayas?

(A)  The Arunachal Himalayas (B) The Himachal and Uttarakhand Hi
(C)  Kashmir Himalayas (D) The Darjeeling and Sikkim Himalayas
(E)  Question not attempted

e ST Rree e & fafafea 7 @ g &3 3 safea 2

malayas

(A)  sreurree fere™ @y famree 3R seuEs ferme
(©) i fere | (D) =R 3 ffiere femer
(E) ARy

¢ , .. . . - t
Pangong Tso’ lake is situated in which of the following sub divisions of the Himalayas? (Choos€ the moS

appropriate option from below:)

(A) Darjiling and Sikkim Himalayas

(B) Arunachal Himalayas

(C) Kashmir / Ladakh or Northwestern Himalayas
(D) Himachal and Uttarakhand Himalayas

(E) Question not attempted

it it ehter e & frefafaa § & fore sude o uTE STt 82 (e & T 3uRs ferened )

»y arfSifeiT o fafer femme (B) U= fede™

(C) R/ =@ AT S i e (D) Teuree iR STEs ferme™

(B) rgaiaysd

Which is not a function of the State Human Rights Commission? (Choose the most appropriate option from
below:)

(A) To discourage the efforts of Non-Governmental Organizations working in the field of Human Rights.
(B) To visit jails and study the living condition of inmates.

(C) To spread human rights literacy among the people.

(D) To undertake and promote research in the field of Human Rights.

(E) Question not attempted

T MR ST ST - e e 87 (PR § & wed suge foehed )
}A{ TR ¥ &t 3 SR T aRehT SIS o JATH b TalcaTted Al

(B) ﬁmaﬁnmaﬂt%ﬁﬁﬁeﬁmﬁwﬁfsﬁrmml

©) ST 3 offer ATETTIeRIT AT&TdT SRl ST R

(D) R 35 @ 3 ST A S ST <

(E) SAgaiayd

By which Indian Constitutional Amendment the ‘Gram Sabha’ has been given a Constitutiong] St

(A) 731d (B) 74th atus?
(C) 751h (D) 72nd

(E) Question not attempted

fra #sﬁmmmmﬁﬁumﬁﬁﬁmw%?
(K 73at (B) 74at

() 75at (D) 724t

(B) gaRasA

S17] ﬁ 13
‘ [Py
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56  Which of the‘following words has been added to the Preamble by the 42" Constitutional Amendment?
(A) Equah{y (B) Integrity \&
©) Fraten}lty (D)  Liberty ! )
(E) Questxpn not attempted ;
ﬁmﬁﬁaﬁ%ﬁwmmu&aﬁmwﬁmmmﬁsﬁawé?
(A) THHEAT B) sm@Edar Y
(©) e (D)  wEdEdr |
(E) rgai@wy rf
57  Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from belowk): Lty
(A) Not ﬁaymsz minimum wages to workers (B) Banning thé‘;usc of loudspeaker after 9 pm
© Dehgérmg a speech (D) Banning df' tobacco products
(E)  Question not attempted “F
g # FeiciRae & =i w vt s st seam 2 (ﬁwﬁﬁmﬁmﬁmm )
)/({ TR T HTGH T ST o (B) m9aﬁ%mmwnﬁw’qm
© W (D) m@m_mmm
(E) Talg v |

The Preamble of the Indian Constitution starts with the phrase (T}

(A) Withfthe name of God..... (B) India a Sovereign, socialist
©) To secure all citizen of India

..... (D) “We the peoble of India™.....
(E) Questxon not attempted Q;:
Wmﬁﬁmmmﬂ%wéﬁ%ﬁ ‘fji

i IR
(&) m%ﬂm%m ..... (B) A Uk THCoEU~, GHISETEL. ...
(©) m%a‘zﬁmﬂﬁﬁ@m

..... o “TH I ...
(E) ug?@gsrar
59 In19

83 Q ich of the following Commission/Committee was appgét}ted by the Central Government to

examine and)rewew the Centre-State relations in all spheres and recommend appropriate changes?
(A) Sarkatia Commission

(C)  Ashb’Mehta Commission
(E)  Quettibn not attempted

(B) Rajamannp_rCommlttee
(D) Hanumanthigiya Commission

o
1983 #, mh\émﬁm-mmﬁmsﬁtmwwmmﬁﬁﬁmm%mwm
T L o iR < Frafen s ofty
) W A (B) T i
(C) W?[fg};mam”m

. ) g
(E) ' j!%w NFEI

60  Chairman ofjRajasthan Public Service Commission is appointed by ‘YNCh one of the following?
(A)  Govethor (B) Chief.lusticy of High Court
(C)  Chairman UPSC (D)  Chief Mirfigter
(B)  Quekijon not attempted |
TSTEAT Sy dam i o sveres o) Faagfen Fomfafiaa i @ frw & gro Sromd 2
K T (B) I =yl & e =mandar
©) vraggdfi Ht (D) W&
(BE) gafaua

S17] @ | 14

[P.T.O.
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61

62

63

65

Which is the dialect of Kota, Bundi and Jhalawar region of Rajasthan?
(Choose the most appropriate option from below:)

(A) Malvi (B) Hadoti

(€ 'Bhil (D) Wagadi

(E) Question not attempted

T S e, St SR ATATS &6 <hY sttt 3 &t /7

(Frer i & TR ST e ) m’/
(A) Wl BTSN
() e (D) darh
(E) 3TIia ¥&
In Rajasthan Bichchiyo, Lalar, Nokhila and Shikhar are:-
(A) Folk Songs (B) Folk Dances
(C) Playing Instruments (D) Folk Dramas
(E) Question not attempted
TR, Afaar 3K e Tsteer & B

KIERIE] (B) WA IA
(C) drEEA (D) WIFAEH
(E) Agdia g4
Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
(A) Gogaji (B) Pabuji '
(C) Devnarayan ji (D) Ramdevji

(E) Question not attempted

ﬁﬁmﬁwﬁwméﬁwﬁmwm%ﬁmﬁﬁm%ﬁ

T sft (B) ugsh
(C) AR ST (D) THeE St
(E) Iguiayd
Where is marble dumping yard in Rajasthan?
(A) . Bundi . ; (B) Kumbhalgarh
(C) Bikaner (D) Kishangarh
(E) Question not attempted
TTEuT F Tt St arE el 82
&) & BT
(©) T 40y PR
(E) <gaf@yd
Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:
(A) 11 October 2022 (B) 15 November 2023
(C) 19 December 2023 (D) 12 December 2021

(E) Question not attempted

Wﬁw@mmmmﬁmmmw@

(A) 11 31 2022 m{ 15 X 2023
(©) 19 = 2023 12 fwsr 2021
(E) Igaf@yy

S17) ‘ﬁ 15

[‘P.T.0
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L{»]
66 ‘ﬁlgﬁaﬁﬁwﬁgﬂ’a}aﬁﬁsmaﬁ%—

(), TTewE T 5) it & Sfta frer
(©)y STt ufad s (D) g™
B) Faia sy (&3
67 Wwﬁmﬁmaﬁmw% -1
&) vde (B) oA
ALy i () arh
(E)' i@y

68 A ray of light is incident on a
reflection are

(A)  90°, 0° respectively (B) Q?,f_‘go° respectively
(G)') 0°, 0° respectively (D)  90%90° respectively
(F?j Question not attempted ‘ O
T T TR e B e 3 st e e 1 s s i e s i
A& : 90°, 0° (B) F: 0, 90°
M%;T: 0°, 0° (D) R 90°, 90°
(E) SIgaiawy

69 T&WO identical prisms P, and P, are placed as shown in the ﬁgure. A narrow beam of white light is incident
on glass prism P; as shown in the figure. The emergent beamﬁ?m the prism P, falls on the second prism P,.
T& resulting emergent beam from prism P, on the screen coggains:

<F A P O
O . : !
4 ; ; ‘as) gﬁ%

P, A

(@) Spectrum of light as VIBGYOR form bottom to top oégile screen

(B){; Beam of white light on the screen H“‘j

(©)) No light is obtained on the screen :‘*;f

(D)t Spectrum of light as VIBGYOR form top to bottom Ogﬁle screen

(Ef} Question not attempted . Y . o
e firow Py AR P T 0 0 T ST & S o e, &1 e Wit e e e o e 35
i3 p, gt smafer ST & S for forr #F vty 21 BH D, ot et fmorg firewr P, o et 81 v

¥ oty fepeoTgST ST R W et & 3w g 8- O
-

- Ly

8 A

, a w0
& P A Ay

[~
(;; @ g A @ S, TH F WFH VIBGYOR & 9 3 v
(BY e ot 4 BT T feRrgs
(C) WE UL IS ThIT el gSm .
D) e e S A A, SR B S VIBGYOR ¥ w9
(E) Srgafia ¥

S17] ‘ﬁ ' 16 | ~ [P.T.O.
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LP e
70  The angles of elevationiofj the top of a tower from two points A and B at distance p and q respectively
the base of tower and inthe same straight line with it are complimentary. The hcu,ht of the tower is:

sﬁﬂf
@W%W%ﬁﬁlﬁaﬁ/\aﬁm ST ST :nqna;maqmzﬁmr aqn"rqt% ﬁfﬁm%
o ST IV T &1 HATY 6 SreiTé R 3
e ! | S
W N = O ® e
©or pa | ' D) P4 el
(E) Question not attempted / ?ﬂﬁﬁﬁ 99
71 If the lengths of diagonals of two squares are in the ratio 4 7, then the ratio of their areas is:

o~
’Jﬁaﬁ%ﬁaﬁ"ﬁ‘ﬁmaﬁrm4 7 B, O ST Sl T U & o

2

A) 1649 "»l" N((‘];;/@‘ 343 g:; A N\

< 21 O { 4:7 i §_: v . e 33

(E)  Question not attempted / AR T : e : )?é - %
72 Select the incorrectly matched pair of biosphere reserve and its region. foe ks

(A) Thar Desert - Rajas?than (B) Kanha - Madhya Pradesh, Uttar Pradesh

(C) Manas - Assam : : ' (D) Nilgiri - Karnataka, Kerala

(E) Question not attembted : L]

SHIET-TET YT, wm

?!:2? WﬁT{ %ﬁﬁﬁ?«rsﬁ%wwﬁl tj

w e o .‘@) reiirtattes, 3t
(E) amﬁ?fw = I i
73 Select the incorrect stat%ment about the genetlc code : [+
(A) 61 codons code f‘ér’ammo acids. - . g«vé
(B) UUU code for phenylalamne
(C) AUG only acts aé ugltlator codon and has no other function. W
(D) The codon is trlp}_?'; : E;
(E)  Question not attempted i
AT Tz (ST 1) & ok H T o bl AT Y
t @A) 61@@?@?&@@&%@%@%%% | w
(B) UUU %ﬁaqarﬁ? T e T 8l , -
(€) AUG %aa aﬁ@ﬁ?%@ﬁﬂﬁmﬁlmmaﬁémmg'
(D) Frem e G ETE &
(E) rgaf@ug <« et
4 Which of the followmg‘rﬂrot,enous base is not a component of DNA? iy
(A) Cytosine (B) Adenine <t
(C) Guanine ‘\_2 (D) Uracil :ﬁ :
(E)  Question not attempted b
ﬁwﬁwﬁaaﬁﬁﬁqmm@ﬁwav(m)@ﬂwqwmwm N
(A) wrEeRf ) ‘ (B) WA
(C) wre : : QY qfew
(E) gafay ’ :

817 ~ 17 | NP,
L ' st . [kpg
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75

76

What is “Fly in” in MS power point?

(A) Page design (B)
(C) System command (D)
(E) Question not attempted

TH T T Uige & “Felts (Fly) 7 1 29

Animation effect
Colour scheme

(a) U %Gns:r Byl g
© freewwme (D) FeREhm
(B) IqaRawsr

Which of the following statements is NOT true about floppy disk?

(A) Datacan only be read or write when write protect notch is closed or covered.
(B)  Floppy disks are made up of Mylar Plastic.

(C) Mylar Plastic surface is coated with iron oxide (magnetic substance).

D). On_ly 1.44 MB can be stored in some versions.

(E)  Question not attempted

%aﬁmmﬁmm%@mm%wm;ﬁémﬁaaﬁmwgmal

@m%wﬁmﬁ@ﬁmwmﬁ%

77

78

79

)
AT ek rger wenfies & s St )
(€§ Wwﬁwaﬁrmaﬁgﬁm@aﬁamﬁéﬁaﬁaﬁ%

TS EHIT T et 1.44 welt € vt fvar ot e 2
(E) SAgmiawsy

Ethanoic acid reacts with carbonates to form -
(A) Salt, carbon dioxide and water only (B) Salt, ethane and water only

(C) salt and water only (D)  Salt,nitrogen dioxide and water only
(E)  Question not attempted

TS 3TReT ShIa el o AT SARIBHAT F0h ST -
(A) FHAA TIAVT. FHTe STEIATHATES ST ST (B) IS AT, T IR ST

(C) haet orau 3R S (WHW,WWWWW
(E) rguidywyd

The property of carbon which is responsible for the formation of long chains is called:

(A) Sublimation (B) Carbonation

(C) Hydrogenation (D) Catenation

(E) Question not attempted'

e 7 a8 7 ST @t SREeTs S oh g Seert R, e &

(A) ST (FSERH) (B) FwlwRT

(C) TR Oy FR (e

(B) 3rgafayd

Electrolysis of dilute aqueous NaCl solution was carried out by passing 20 millj
required to liberate 0.02 mol of hydrogen gas at the cathode is :

0 Steftar NaCl farert o1 farga-srowrest 20 fireft uftar e sefir sk e wram aveive e argior e 3 0.02

ampere current. The time

I Fr wep 0 o [T VT aTeT STTavae Ty © -

2 4
(A) 2895x 10%s (B) 193 x 104
(©) 38.6x10%s (D)  9.65x10%s

(E)  Question not attempted / 3TaRed 7%

$17] ﬁ 18 [ P.T.O
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81

82

83

84

85

86

87

o G 3T i T 56 ATt o for v v -

t f?‘%
(A) TR (B)
(©) @ S D) i ‘
(E) gaia s 'g‘
Z:r(%f@aﬁmaﬁ:ﬁgaswé e
g = ) (B) oeet "
© b® r (D) fowmor %
(E) AR uH god
ToR T SHE T AT A SIS T I97 it -
%5 )
(A) AFS-qEa _ (B) T - agHt
af 3 A
(Q e - (D) T - | \
() AR ©
= .
wReieF 3157 Valid’ 31 3wy focl amef &
(a) @I - (B) o1y ,
©) 3 farferm=r
(E) ouRayy W
e
Choose the most appraprtate English translation of the given sentence
% 7 foramer =t wreh? aw e
i3
(A) The book was ’férn by Rudra why? (B) Why tear the book, Ru%ga?
Why did Rudrg?éar the book? (D) Why the book was torn’by Rudra?
& i
(E) Question not attempted %’
Choose the most appropriate option to fill in the blanks: ?M
Do you know ‘m”’ in London? Yes, my friend Arun lives near London. But in case he ig
out of town, I will hagze} to go. 50
}xj/ anyone, nowhere; nothing ~ (B) anybody, somewhere, nowhere
(C) nobody, anywhére, something (D) someone, X, SomeWherﬁt
- )
(E)  Question not aﬁt?mpted : ﬁiﬁ
Choose the most appgqpriate option to complete the sentence. g
i Py
In an offici ‘subject’ is ; &
icial letter thg ’ subject’ 1 37/ . st
(A) stretched and refévant ( brief, clear and relevant
(©) vague and pre%:s%;e (D) aslongas possible g3
b i |
(E)  Question not attgmpted ;%‘%
Choose the most apprbpriate word to complete the given sentence: "73’
Iwas advised not to l’gx'ier _thestreets after sunset. T3
o for P~ @5 with -
rd b i~
xg{’ o about ’
4

(E) " Question not attempted

S17) 19
% [ P-T.Q_.
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88

89

920

91

92

93

Match List-I with List-IT

List-I List-IT
a. Munich is a large city the south of Germany. L at
b. Were there many people the concert on Friday? 1II. during
¢ Weshouldn’t speak eating. III. in
d. We didn’t speak the meal. IV. while

Choose the most appropriate answer from the options given below:
(A) a-ILb-1V,c-TI, d - | (B) a-Lb-I,c-II,d-1V

©  a-1V,b-1mc-11 4.7 ¥ a-MLb-Le-Iv,d-m
(E)  Question not attempted

Choose the word closest in meaning to the underlined word:
People thronged to pay
(A) obedience

(C) alienation

homage to the departed leader,
\“B)/tribute

(D)  humility
(E)  Question not attempted
Choose the word which is similar in meaning to RELINQUISH
(A) offensive (B) persist
abandon (D) residue
(E)  Question not attempted

When the minute hand covers a distance of 1 hr 25 min, then what is the

& e hrgg 1 wer 25 e A g a2, T 3TH S T A Tft ofrer gt gy
510° (B) 480°

(©) 450° D) 375°

(E)  Question not attempted / ?ﬁﬁﬁ‘d e

If ‘MEDICAL’ is written as ‘DEMILAC’ in a certain code language, then how is

code?

angular distance covered by it?

‘COMPILE’ written in th:

4 ‘MEDICAL’ %I T %18 9T # ‘DEMILAC’ foran smar &, o ‘COMPILE’ %t 3§ whig ¥ 3 ferar smam

(A) MOCQELI (B) OMCPILE
Sy~ MOCPELI (D) MOCPELO
(E)  Question not attempted / 3TN &1
1 1 1 T .
If the series S=1+ T + T + 2374 F i, , then sum of its infinite terms is:
! 1 L g T« 2t & o= et
= Fiasvaey T 2
uﬁﬂvﬁs—1+l+2+]+2+3+l+2+3+4 AR
3
g1 ® 3
1
, by 4
© 2 ( >
(E)  Question not attempted / TaRa W moC [TE UL

SI7] o ?

[P.TO.
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94

96

97

98

®)  swhg ' (7‘9
St7) ;&@; ™ 21 ?‘7[5
C

[ = _ |

Ve 6 )% 5°
%) %% Find

. of 5:0-
Two numbers are in ratio of 21:26. If 8 is added to each number, then new numbers ar¢ in ratic ©
the ratio of numbers, if 2 is subtracted from each number. qﬁg’(ﬁﬂ? el a
3 e 21:26 3 ST 3 ) IR 8 Sivgr s, o 7 shrett it s 5:6 8 T O
2 2RIT ST At STl &l STJUTd 13y _gij%
(A) 14 (B) 4:5 X3
([O—T8:25 D) 23

(E) Question not atternpted / ST T3

()
. 1:c oain percent ¢
A shopkeeper bought 6 articles for % 5 and sold them at 4 articles for T 6. Then what is his gain P

foret gHMAR T 6 TEIUX ST @I IR T 6% 4 TEqadt % mlmm@,mmmw@é
(A) 65% By 72% \ % ;O' /q
(C) 80% D) 29% oA 5
(E)  Question not attempted / STTRA &1 0 ’8 “
The point A (13, 18), B (-5, 10), C (13, -8) and D (5, 0) taken in that order are the verticesofa - Q\OQ
(A) Trapezium (B) Square )
(C) Rhombus : . (D) Rectangle

(E)  Question not attempted ; e

g A (13, 18), B (-5, 10), C (-13, -8) T D (5, 0) M S FA T ST TTY ERiEk

(A) S =g B) @t g g

5" eregie o o .

(B) orgaiaws ' Q \1

Total surface area of cube is numerically equal to the volume of the cube, then find the diagonal of cube

(A) 63 units (B) /3 units =="
(C©) 243 units - (D) 6 units

(E)  Question not attempted
Wwwwmammﬁ@mmmm%m%m%ﬁwqﬂwmwl

(A) 65 T8 B) 3 3ER

(9/ 23 s&rd \ D) 6TFE

(E) Srgafaws

Four players A, B, C and D are standing in a field in such a way that B is o East of A Cist

Aand D is to North of A. D is standing in which direction of B? i Othe g outh o
(A)  North (B) North-West

(©  South (D) West

(E) " Question not attempted

RGN A, B, Cug D A FAeA AW ACATS A H @i B, 5

aﬁuqefc
81 B % frg faamr #f D wer 27 aﬁ“\%aﬁ;,}b
@ ww () Iwafum | Ty

%

© aftrr By

[ P-T. o
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99  Find the number of triangles in the given figures:

T

0 i:
A) 15 { ®) 17
A) o

© 14 I~ (D) 13
(E)  Question not Q}%e11lpted / ?ﬂ‘:ﬁlﬁ?{ sy

100 Shri Lal Joshi, Phad artist, belongs to which place in Rajasthan?
(A)  Jaipur ‘ (B) -Sikar 3

W0 . i

(€) Churu et (D) Bhilwara
(E) Question not ﬁttiempted
S FHATH 2T T R TSR o foret T & wrifir €2 ¥
(A) SER O (B) i i
© I = | @f e
E ometayr

101 Who can remove thé Governor of a State? (Choose the most appropriate optlon from below:)
(A) Chief Minister_ (B) President 5
(C) Prime Ministeigi (D) * Chief Justice of Ihdia
(E) Question not ﬂt§empted i»
ST o TSAUTH Sl Shiiee] Hehl 82 (ﬁﬁ%\@ﬁﬁﬁwﬁmﬁwaﬁ) i
@A) T O @y Tt
©) S LE S (D) w%g@m%ﬁw
® omar@wr L
102 On 2™ October 193—4 who inaugurated the modern three tier system o}\Panchayatl Raj in the Nagour
(Rajasthan). \“3'
(A) Mahatma Gatdhi (B) Jawahar Lal Nehty
(C) Sarojini Naidgg (D) Lal Bahadur Sha%tn
(E) Question not atbempted
e 2 sy, 1959ﬁmﬁtmm)ﬁqam?ﬁw£r mﬁmﬁwﬂqmaﬂmmw
(A) T Iy By SETe e 6 =
©) wifer g I (D) T STETIT H
®) wafawg &
103  The idea of ‘Welfare State’ in the Indian Constitution is enshrined in its ‘i‘\?
(A) Fundamental Rights (B) Preamble L

(C) Seventh Scheﬂtsle
(E) Question not atfempted =
I wfera™ 7 “FHEIE T w57 famw # fafea &1

(D) Directive Princip\lgs of State Policy

~
(A  wiferes st (B) w&&EAT v
(© 7eff ergEt l:_’ By~ T F A e i

(B) orgafays

S171 g 22 [ P.T.O.
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105

106

, What is Himalayan yew (Taxus Wallichiana)?
0

(A) Atype of soil which is found in Himalayan region
B) A folk song of Himachal Pradesh

© A Medicinal tree

(D) Atype of Tribe

(E) Question not attempted

forTeTa 4 (SFE STCATTATT) T4 89

Ay T 0 O ST ST fReTeRr 8t 8 wram st (B)
(€ M T (D)
() SguRawA

The river of Rajasthan that drains into Arabian Sea is.
(A) Banas (B)
(C) Kantali (D)
(E) Question not attempted

TSEIH & 98 el ST ST g i et 2 -

(A) == (B)
(C) Hiadr | B>
(E) rgaia s

Which one of the following rivers flows in a rift-valley?
(A) The Narmada ®B)
(C) The Gandak (D)
(E) 'Question not attempted

Fefefaa & & i ot 7t forstar-onet & et 7

(A) e (B)

© TeF o7

(E) rfawy

07 Choose the most apprdpriate option to fill in the blank:

lig Choos

]
) Choog

E .
317] ) Question not attempted

Aditi has been working here
(A) six months ago (B)

()?( for six months ’QT

) " Question not attempted

The old houses in town

(A) are declaring
©)  declare ®)
(E)

Question not attempted
¢ the most appropriate option 1o fi X
~——___postman’s little boy said that he’d rather be

Il in the blanks:

\_
A The, a,a,x,x

© The, the a, X, x

(D)

23

h

fomTeIcT ST T U A
ST T Teh TehlT

Chambal
Luni

The Ravi
The Yamuna

et
RLCH)

el

six months before
since six months

¢ the most appropriate passive form of the word: ‘decl.a‘re‘ to fill in the blapy..
unsafe by the authorities,

have been declareq
declared

dentist than

Carg;
A, the, the, a, x CIlol(’glst
X, 4, a, a, the
[RTQ

e ey 6 258
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ﬂ
. = |
t I
he numbers 24, 34, 46, 48 2"+ 1,4x+3, 105,110, 114, 123 are written in ascendmg order and the
110 tr17e7 The value of x is: “ } 1] meq
zﬁmﬁf 2; 34, 4;:; :Qi.\: +1,4x+3,105, 110, 114, 123 ﬁmm(mm)ﬁ%@wéaﬁw
e 77 8, AT /@( s
(n) 22 ~ 25 [ :
(C) 30 pag (D) 20 gl
() Question not attempted / ST =0
{11 There is 50% increase i W amount of money in 5 years, at simple interest. What will be the compot
interest on T 15,000 after 3 Q?ears at the same rate? et
Farefy e eBY ST AT AR o feaT ST 8, ﬁ‘rwﬁsaﬁﬁso%ﬁaﬁga‘m@maé?ls 000 = &
%mw@mwm o
@A) 4800 o | (B) T 4,900 -
T 4,965 i, D) T 4,960 o
(E) Question not attemp?:i / mﬁﬁ B ,. ]
112 To boost economy and gettlng State Government approvals Rajasthan Micro, Small and Medium Enterpri
(Facilitation of Establlshmwand Enforcement Amendment Act, 2023) has increaded the period of exempti
to MSME from: it "323_’
(A) 2yearstodyears L} '~ '(B) 4yearsto5 years Ejf
(C) 3 yearstoS years = (D) 3 years to 4 years ,f}
(E) Question not attempte - adf
W#mﬁﬁt@wﬁméﬁ%mmmﬂ maﬂtmwm(@mmaﬁtwé?
FR{RT Fe e, zogs)ﬁr @mmé(MSME)aﬁwaﬁaaﬁrwaﬁ% 1
(A) 2849 (B) 4¥s5ad
© 3@sad O @f 3@4ad 0
(E) oFuRa s e z;{;
113 The Rajasthan Panchayti Réj}Act (RPRA) came into force from: @,
(A)  April 1992 - (B) January 1992 WO
(C)  April 1994 :3 (D) January 1994 v
(E)  Question not attempted , l‘"
S pte P S s
(A) 318 1992 (B) Sl 1992 e
ST 1994 0 | (D) ST 1994 e
(E) ot uy b Ly
114 Integrated circuits (ICs) arerelated to which generation of computers? Sg
(A)  Second Generation ' (B) Third Generation P’
(€ Fourth Generation ¥4 (D) First Generation -
I
@ i ;qg;;ﬁwma;wamm%? -
y e e B) T
S (D) T SR
S17 gy T [or/< 1 0.
] ﬁ 24 ‘(/0/' (0 /D P [P.T'
le It '
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115

116

117

118

119

-y
tion
o : Corpor?
which of the following is the transistor’s capacity of the first microprocessor pro(]uccd by Intel

e A 72T T 27 e < izt e &2
® 150 ) 2300
© 70 (D) 1700 .
(E) Question ﬂdt‘attempted / TG W 1 7:
|

=
which of the followmg command of excel will take you to the next wdfkbook window?

ﬁ@raﬁ?mm !
i o % STHT ST s fer ey Tem?
(A) Ctrl+Page Up (B) Ctrl +Shift +'F6/Tab
© Ctr1+F6/Tab ®r F6/Shift+_ﬂ?4

(E) Question ot attempted / STFRRA T
ight
Some girls are standmg in a queue. If Kavita who is 11th from the left er;ﬁd .and Babita who is 9th from the Mg

in the
end interchange tl tﬁelr positions, Kavita becomes 15t from the left efid. How many girls are there 11 f

queue? %ﬁ - )
mag%m@qﬁﬁﬁ@:cﬁ%l FRATTR B 115 R ﬁnaﬁma%%@ﬂ% o3} porre O 21 AT I T
ﬁwwﬁmwﬁ?ﬁ aﬁmaﬁzﬁtﬁﬁ%wmmw wﬁg’i}mmﬁa@m%ﬁ

m/ 23 f:% 25 -
© V (D) 21

(E) Question ngtattempted / AR T 0

)
Some students aré Standing in a row facing in same direction. If the position of John from left is 32 and from

i)
right is 15, then how many students are there in the row? “fﬁ

m%mﬁ@ﬁ”ﬁ@ﬁﬁmﬁu@m@%%mﬁmwmamﬁ@ 3291 & T Il ST | ISHT%‘cﬁ

A) 47 H @7 46 wi l |
©) 48 (D) 45 O ‘Clg\
(E)  Question n‘g? attempted / T 94 =i Y

P is the son of R;{R and Q are sisters; Z is the mother of Q and M is t_g‘% son of Z. Which of the follgws:
statement is true?’ 1: O W1
(A) Misthe nyai;mal uncle of P. (B) RandM aré':sjsters.
© Qisthe g,:{i?fdmother of P.

() " Question not attempted

P,R %qua%—:;-g;z,()@msﬁ%aﬂw zamg{ﬂ%lﬁnﬁwﬂgaf;qm_mm 5
M, P 31 iR (B) R@M“‘% %

(D) MandP arg.cpusins,

© (D) Maip - £ N
" Q,Paﬁﬂ%@m%l tﬁ@)\"g%l —Q __Bqé‘-
S ) ﬂgﬁﬁ?rwﬁﬂ ™
17) ﬁ {;f 25 > P*
H
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120 gelect the illCOl'f@ct SFat:;lem _in context of Bhj
(A) To kee them in Hinduism he started t}, N OfRajasth
@) The pritishers felt that the objective - oba 0 o

formation of a Bhil State. Of this ¢ Veme

e organised monthly meetings of Sam,

S

© H
D) For social and moral upliftment of the Bhi a
(B) Question pot attempted hils of ajasth Managarh py; W
- . R ] ¢
T éﬁsﬁ?ﬁuﬁﬁg % % T i srgey 0, Govind Gyp,
(A) :{%ﬁ.“q; WI@%[%%QW%“ WW#. Cstablisheq th, S
3l e el % §I ST T & quq.“ PS:
8 gﬂ%%m h HET EHWW%
T % wrR 2l
(E) 3Tl oA @Tﬂﬁ:@xi" m‘ﬁavvwamﬁmé
21 Which of the followin . e, oy '
g storage devic ERg=) oo
(A) Floppy disk € can store max; #h
(C) Optical di Ximum amoy
ptical disk ®) c nt of datg?
(E)  Question not attempted (D) ompact disk
Pt o & 2 T Hard disk
(&), it fewn 7 St e
A %&w o
ST
122 Which of the followi By rusts
ﬁlaﬁ-_f: f(:HOng is used for spell .
i EIEE N g CTR TR ﬁfﬁg:b_rChecklril%i;r excel?
© F7 ST &7
B Quest , (B) F6
123 Which of ;szlIllOt attempted / START ey (D) F4
- qﬁ('—)rvg?g - d\;Splays current
) Tod BT T 3 a?.fq-l;rrrf;n system date in spreadsheet?
©) TOd:;/ 2@) A ik Tafata Hiar 82 =
124 € Question (B) Today{ J
Which of Otattempted / ST (D) Today[ ]
(4) ) ¢ fOllOwi . N e
C Allgnment Ng 1s NOT a charact o,
) E ffects er formatting in word processing tool?
Question p, (B) Underline
(A) : é Otg_:tempted (D) Font colour
O v P e o i oo =
T &7
®) ™Y Skl
s P 557 (B) - :
m -
) Onetary assigt _(éB')/ Thie hC
© Subsidy Ance given by G
Licence y Government for production activities is called-
%Quesﬁon not ® 208
y %ftgmpted (D) GDP
) iy T e s g T S &
(k) gerdl :
Sty Twy ®
(D) Srerdr )
P

26
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126 Heating the sulphide ores in the presence of excess of air is called:

(A) Roasting (B) Reduction ‘j;

(C)  Electrolysis e (D) Calcination ;;/:)

(E)  Question not attempted S|

m%mﬁwﬁﬁmﬁmmaﬁﬁmaﬁmmﬁ% \0

B & s

W (ﬁﬁ?’f) A0 CV(L CEEEE] -

e el

(?C F o (D) | fereare (e ™
sgat@ s

127 Anodising is: o uf",}

. - . \‘

(A) forming a thick oxide layer on the metal surface i )

(B) depositing a lay&rof zinc on metal surface =

T o

(C) oiling the metal igli;;rface ;

(D) painting the metalisurface ™

S

(E) Question not attgﬁf’lpted

T 8 r;g

MWWWWWEQW%W (B) wmmﬁmaﬁ%ﬁaﬁﬁﬁm

(C) g R O et ST D) wgﬁﬁraamm

E) FERETS ‘*’*:
128 The electronic conﬁgugatlons of three elements A, B and C are:

A-z,s,B-2,8,7anhi’C 2,8,2. ’

Which of the followin;g iéj:tatements is true?

(A) Bisametal :.w.g

L]

(C) Bisanon-metal and C is a metal. (D) Aisametal
" (E) Question not attempted

At A, B 3R C % g o T

A-2,8;B-2, 873&{02 8,2 €l

Frefafiaa i & o a1 e w82

(A) BUF4YGR ""5 (B) C U 3uTg Rl
_ter” BuF g & :ffl’{C@H‘l?f%l (D) ATHHER

(B) g a4

129 Which of the followmg is the precipitate in the given reaction?

&8 sfufiman & & & i T AT 82

Na;SO (aq) + BaCl, (ag) s BaSOy (s) *+ 2NaCl (a0)

(A)  Baso, (s) L (B) BaCly(aq)

£ (D) NaySOy(aq)

€T NaCl (aq) i
(E) " Question not attgnipted / Wuﬂ

S17] ‘_@%

27

(B) Cisanon-metal.

=t
i
E’*zv,,
7

17164546 17164546

k  —TTI e —

[Prg
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130 Match List-I with List-IL :

List-I List-II
(Reaction/Rcactant) (Effect)
3 Oxidation L. Gain of electron :
b.  Reduction II.  Electron accepting SPe'C‘eS
c Reducing agent : III.  Electron loosing Species
d. Oxidising agent IV. Loss of electron
-1 g1l & gAfe i
Tt -1
FrarEE®) ' oE)
a. SATRTRTT L a2 hl Bty
b, EEA LSS ey e ol i (S
6. STuETEE L o En aret e (S
d.  ATHHRES V. s g
Choose the most appropriate answer from the options given below:
e g T ferepedt & & watfere SUgwh ST T :
(A) a-TLb-ILc-1IV,d-1I B) a-I,b-IV,c-1,d-II
€y a-Lb-1V,c-1,d-1II (D) a-IV,b-Ic-I0,d-1I

(E) Question not attempted / ﬂ@ﬁf{ﬁ' BEl
131  Select the incorrecty matched pair of National Park and the state. (Choose the most appropriate option fro

below:)
(A) Satpura National Park - Tamil Nadu (B) Kevla Dev National Park - Rajasthan
(C) Kajiranga National Park - Assam (D) Bandipur National Park - Karnataka

(E) Question not attempted

TSI I FUT T o FAA SIS 1 == hl (P & & Tl S0 forened <1)

AT U Ser-afeerrg (B) hIeE TSI SeTH-TISreer
(C) SIS U JeH-3Te0 (D) SR TR ST-Hiesh
(E) Sruiauy

132 Select the method used for calculation of real value of good seed.
Germination percent x Purity percent

(A) G (B) Germit}ation percent 100
Purity percent
2 (Germination percent + Purity percent Puri
©) o ) (D) ty percent 100

Germination percent

(E)  Question not attempted

U ST ffT o aTeeifereh o1 3 wfterar 3 forg gwainT oy sy arett farftr s gf.

i1 ufasma i
A X SI&T iier (B Wuﬁrmxloo
100 AT Wi
( 2 (ST ufisrg 4- I wiigT) Y& wisra
— ey 7 —x100
- 100 S wiera

B) gafaud

S " .
7 i 28 [P.T0
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. : a
Ject the incorrectly matched combinati . del 1B pe
133 Se mbination of characters and contrasting traits studied bY Men

plant.

Seed Shape : Round / Wrink] :
(A) S & (B)  Flower position : Axial / terminal
©) Pod. Colour : White/ yellow
. (D)  Seed Colour : Yellow / green
(E) Question not attempted
;?2;:?”%mﬁﬁﬁhﬁw@hmTﬁ%wm%mﬁWmﬁﬁﬁhn
‘ R A ®) v feufi ; srafrr /afrier

(C) el BT T : TR / e (D) st &1 @1 : e B0

(F) STIArE A
34 Anbio-activemolecule,  ,thatisused as an immunosuppressive agent in organ-transplantP alen=

produced by a fungus.

(A) statins (B) cyclosporin A

(C) lactic acid (D) streptokinase

(E) Question not attempted

watr e e i iR 3 e Pt e S & 3 A o {6 S 8, 39

IS U A @ fRAT STaT ]l M\/

(a) wR= Bf TR

(C) e 3Tt (D) TWRHEAS

(E) SIaiaud
135  Select the incorrectly matched pair of plant and its econpmically important part.

(A) Papaver somniferum - fruit (B) Emblica officinalis - fruit

(C) Cinchona officinalis -Bark (D) Centella asiatica - Bark

(E) Question not attempted
TR S e ST Ta el ST ¥ ek St a1 S L ZHl

(A) W ETEE - Bl TR AR - B
(©) farr AhifEafaw - o1 (D) ¥ ufufesH - T
(E) 3rquid 94
36 Choose the most appropriate English word for the given word- iR,
(A) Seizure (B) Regulation
Abatement (D) Deferred

(E)  Question not attempted

137 Choose the most appropriate word to complete the following sentence:

.

An inscription on a tombstone is termedas ____————
(B) anepitaph

(A) agrave
(D) acemetery

a sermon
(E)  Question not attempted
s/f(fhyge the word opposite in meaning to ERUDITE
A) Illiterate
(©) Learned
(E)  Question not attempted

817 o5 . 29
[(Prq

13
(B) Crude
(D) Boring
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139

140

141

142

143

In which Indian state the rare butterfly ‘Neptis Philyra’ has been discovered?
(A)  Arunachal np,‘.'."_m“h (B)  Himachal Pradesh
(©) Jammu an(f lf\lfashmir (D) Uttarakhand .
(E)  Question npt-attempted =
ot fovarelt e e o aier v 3 g e i oy rd 29 b
(A)  STEITeTl Y34 ®) fm@wm

(©) aﬂiaﬂtw Laa)/:ﬁm@g T
(E) rgaRawyr i

[ S} , ™., . o
Who has become the first woman scientist to win the ‘G. D. Birla Award’ for s{:lentxﬁc research?

(A) Dr. Aditi S%e&De (B) Dr. Rani Chatterje;g' g
(C) M. Fatima Bibi (D) Sipra Guha Mukherjee
(E) Question npﬂtz"glttempted f’
%ﬁma@m%ﬁm‘ﬁtﬁﬁww’sﬁﬁ%wm éarﬁam:r:gﬂv
@) & aRfraE & T ‘“”Ef
© wwREHES D) RmTErgest o
(E) 33{3?[13{?[3[ - T

Out of 2000 employées_in an office, 52% are graduates. 60% of the employee: \'é:re male and 50% of then

employees are gratltpi_gates. Then how many female employees are graduates? ™

2000 ST Sy shpEterT i 529 wEE ) 60% ST 989 2 37 50% Tew FErt T §) e
Ly

WW%" »;\; b8
(A) 430 =f NB) 440 ;};
(C) 460 * (D) 410 5
(E) Question n(bfattempted | AR o7 Lo
The value of 1og9_’g_z§+ logy79 is: i
loge27 + log,,9 I A 2: ‘ >
(A) 13/6 o - B) 12 i
©y” 95 it D) 5/6

(E)  Question np;'pttempted / TR wor 0

In the figure give'fi";'i)eIOW, PQR is a triangle. QR is parallel to PM. If QR-:Z&{{’ then what is the val¥
H

ZRPM? o A,
g WTPQR@W%I QR , PM & FHIIRT 1 Afk QR=PR 2, TR RPM 7 T 78

Q i ;!
v
R

\Q

=i

LYy M !

=§!

(A) 80° zﬁ (B) 100° 0]
€ 95° v (D) 70° v
(E) Question not attcmpted/\’i';ﬁﬁ?f a4 ‘ >

| 0
S17) s 30 ™ . [P
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144 Vikram Sarabhai Space Centre is located at-

(A) Thiruvananthapuram (B)  Sriharikota
(C) Hyderabad (D)  Bengaluru
(E)  Question not attempted
FRTITE VE deT (3fafier hy) feua -
foreaagm B) et
© e
() 3TaRa v '\% ; _
145 A coil of wire has an area of 600 sq cm and has 500 turns. If it carries 1. 5 A current, its magnetic dipole
moment is -
(A) 15Am? (B) 30 Am?
(C) 45An? (D) 10 Am?

(E)  Question not attempted , »
T 500 3 S T T Ut A St 600 < et &1 af ueed # 1.5ﬁ&qmagﬁm$rm@m%,a?gﬁ@?ﬁ

1 TR e AT © - -
(A) 15 YfErR e (B) 30 YfrrErHie?
(C) 45 VfqaHIT (D) 10 YfewETHIE?
(B) Sgaiawsr
146 When the cornea is not spherical in shape, the defect of vision in this eye is called -
Aa) Hypermetropxa “ (B) Astigmatism
(C) Cataract " (D) Myopia

(E) Question not attempted '

S FARRT (EreHe) TR TE 81T 8, ﬁww%ﬁﬁﬁg&maﬂﬂm%

(A) TS B) uRemfesT (3tfeigeHan)
Fowe (fmafeg) (D) =T (Feegf®)
(E) gai@
147 eIy yoa i ffea 3uwnt 8-
(A A ®) T
© 3 ®)
(E) rgaia 4
148 ?wﬁmwﬂ% i)
& (B) sl | i)
© ™ ' (D) #[ '
(B) SIgaia 94
149 ﬁmﬁaﬁaﬁnz}mmaﬁmﬁﬁ?
(a) v /aaa/mﬁm
(C) = (D) Waw
() af@yd
150  re] 36 ST Ot e o fehary e 9E B €7 \

£5 .
_ 31ms
) FaRa v .

S17] @ 31

[PTq
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